Hollow Shaft Type Three-Phase 1.5 kW Non-Brake Type, Brake Type

B Specification Chart

) Brake
Number Voltage Rated current | Rated revolution :
Output| of [’}mg?:g Freq#sncy V A r/min Protection %%?Hgi Rating | Insulation Rated
phases P 50/60/60Hz 50/60/60Hz 50/60/60Hz Type | torqueof |Insulation
motor torque
Totally | Self
Three- 50/60/60 | 200/200/220 66/60/58 | 1440/1745/1755 - |ClassE| Non | Atleast
oW | ohase| 4 | (50/50/60/80) | (380/400/400/440) | (34/3.3/3.0/2.9) | (1445/1450/1745/1755) e(”‘gﬁ)d (“j%”jﬁe]d) Conts| oy B)|encitation| 150% | U258

Note 1: The values in parentheses under "Rated current” and "Rated revolution" are for 400 V class.
Note 2: The protective construction for the brake type is IP20.

= g 2 Allowable output shaft torque
Motor | Actual g% = O%\%Bﬁggft o : Allowable output  |nraning number
Model number  |output reduction| £.5| & r/min N-m  |{kef-mi| N-m |{kef-m} shaft O.H.L. of outline
kW | rato 28| 8 ; :
=3 £ | s0Hz | 60Hz 50Hz 60Hz N Ry || EMETSES
10 1710 150 180 868| [ 88 724 | { 74 3610 { 3681
15 1715 100 120 125 | {127t 105 |[{ 107 3610 { 3681
20 1/20 e8| 75 el 162 | {1651 | 136 || 139 4350 [ 444 [ 1]
25 1/25 60 72 196 | { 2001 165 |{ 168 4350 { 4441
CSMR150 ]
30 1/30 50 60 223 || e27t| 189 | {193 4800 { 490}
40 1740 375 45 289 | | 294t | 246 | { 250 7240 { 7391
50 1/50 32| 30 36 321 | [ 328/ 292 | {298 7680 [ 784}
60 1/60 25 30 321 | {328/ | 292 | {298 8280 { 8451
40 1/40 375 45 317 | {324 | 267 | {272 7240 { 7391
32
50 . 1/50 30 36 392 | {400f| 330 | {337 7680 { 7841
60 ' 1/60 25 30 460 | [ 4691| 388 || 395 10620 {1084 |
75 1/75 20 24 567 | { 578f| 478 | {487 11660 {1190}
PO 1/90 40| 187 | 20 652 | { 6651 | 551 | {562 | 11810 {1205} | 4 |
100 1/100 15 18 719 | {7331 | 607 | {620} 11810 {1205}
HCMR150 2
120 17120 125 15 744 | {759 | 674 || 688 11810 {1205}
150 1/150 10 12 988 | {101 }| 840 |{ 857 16680 {1702}
180 1/180 8.3 10 1126 | {116 || 959 | {978 16680 {1702}
200 1/200 50| 75 9 1236 | {126 }| 1052 | {107 || 16680 {1702} [ 5 |
240 1/252 595 7141 1607 | {164 }| 1362 | {139 | 16680 {1702}
- 300 1/315 476 5711 1980 | {202 || 1676 | {171 | 16680 {1702}
E Note 1: The actual reduction ratio is shown as the reduction ratio.
o Note 2: The output shaft revolution rate is calculated by dividing the synchronous motor revolution rate by the reduction ratio. Calculate the
b actual output revolution rate from the motor's rated revolution rate.
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